24

H23

H27

1,700

L=1,500m

18

2.24

98

H23

H27

390

L=210m

154

2.24

98

49

32

7,800

L=6,320m
L=2,950m
L=2,149m

66.4

3.26

98

H3

H27

4,900

L=2,800m
L=1,700m
L=2,200m

87.4

294

98

H16

H28

2,500

L=8,460m
L=4,230m
N=7

90.9

2.30

98

H19

H38

5,100

T=Z,500TT
L=1,400m
L=2,800m

N—2

26.3

5.14

97

43

26

33,028

L=19,905m
L=8,994m
L=14,356m

99.4

3.90

96

55

H38

16,480

L=42,440m
L=21,220m
L=37,080m

40.3

2.72

96

26

H38

26,000

L=40,800m
L=20,400m
L=4,300m

73.2

2.70

96

10

21

32

16,950

L=35,300m
L=19,400m
L=11400m

51.3

2.60

96

10

16




24

11

H24

27

2,570

L=750m
V=70 m3

24.9

149

95

11

12

H23

H27

2,956

L=1,700m

24

1.59

93

12

13

45

28

16,640

L=29,000m
L=14,900m
L=6,500m

90.6

1.30

86

13

14

H18

37

3,287

L=7,040m
L=3,320m
L=2,500m

38.7

1.84

79

14

15

31

26

15,900

T=I9,7TIOm
L=7,010m
L=16,833m

1l —CT7C

90.0

1.84

76

15

17




24

H4

26

1,020

L=4,000m
L=4,000m
N=2

82.9

1.46

85

H12

H27

350

L=24,400m

571

1.83

83

H21

H26

320

L=750m
N=3
N=1

94.2

80

18




L 688m

S54 | H26 8,605 L 2.600m 88.5 245 98
H22 | H26 1,400 L 375m 27.0 134 89
S60 | H30 5,901 L 2330m 75.3 3.00 85

19




24

S57

H38

45,000

84.5m

7,800,000m3

181

1.96

97

20




24

10

95

95

95

93

93

93

93

93

93

92

7.67

474

3.41

15.66

6.82

411

3.79

3.08

2.25

447

111

476

75.6

62.0

22.5

23.7

27.6

82.3

76.9

79.9

N=1

N=1

N=2
L=650m

3
=350m

N
L

N=1

N=5
N=1

N=2

N=1

2
=650m

N
L

360

255

268

150

330

350

203

620

488

350

H29

H26

H26

H28

H29

H30

H27

H27

H27

H27

H23

H20

H18

H22

H22

H23

H22

H14

H18

H20

10

21



11 H19 | H26 328 N= 728 205| 90 | 11
N=2

12 H22 | H30 550 L=25m 124 288| 90 | 12

N=1

13 H24 | H29 290 2 70 253| 90 | 13

N=9
N=1

14 H20 | H27 380 N Lo 527 204| 90 | 14
L =200

15 H19 | H27 630 N=1 498 1119 88 | 15
N=1,160m : :

16 H19 | H27 700 L=730 451 261| 88 | 16
2

17 H24 | H29 260 500 77 204| 88 | 17
2

18 H24 | Ha1 370 = 54 213| 88 | 18
1

19 H2a | H29 240 = 83 259| 87 | 19

20 H20 | H26 397 N=2 645 144| 83 | 20
L=250m : :

22




21 H2o | H27 | 250 L=780 58.8 a58| 81 | 21
22 Hoo | H29 | 700 g 311 204| 80 | 22
23 H20 | H29 | 160 =860 311 036 77 | 23
24 H22 | H3o | 496 N=3 331 179| 66 | 24

23




24

H23 | H27 95 N=1 103 318 93
H21 | H26 90 N=1 38.0 279 90
H21 | H26 129 N=1 455 193] 90

24




24

N=1
H18 | H26 388 L=6,140m 85.8 692 92
H12 | H28 1,800{L=11,600m 64.1 716 80
L=7,400m
H19 | H34 3,350 N=7 121 3.07 70
’ L=500m ' '

25




24

~150m

1 H20 | H26 160 A=4500 375 497| 93 1
188m

2 H24 | H29 196 3,300 7.7 410| 93 2
68m
360m

3 H21 | H2e 300 6.900 487 403| 93 3
370m

4 H21 | H26 300 2200 58.2 341| 93 | 4
252m

5 H21 | H2s8 300 1500 60.5 245| 90 5

5,600

583m

6 H2a | H33 810 12,000 25 228 | 90 6
470m
130m

7 H24 | H28 205 3,800 9.8 214 | 90 7
126.7m

8 H23 | H27 150 he2.940 20.0 413| 88 8
230m

9 H23 | H27 260 A=9820 165 333| 88 9

10 H21 | H26 300 2 0m 28.3 167| 88 | 10

6,600 : :

26




24

11

H21

H28

350

241.7m
3,600
1,200
L=117m

20.2

1.23

88

11

27




24

L=100m

H24 | H26 70 A=1000m2 14.3 518 90
L=76m

H20 | H27 90 A=702 62.2 333 90
L=256m

H20 | H28 100 63.0 314 90

A=2,800m2

L=160m

H23 | H26 60 A=1,120 48.0 333 | 88
L=125m

H22 | H26 85 A=1,500 69.1 3.15( 88
L=222m

H20 | H27 160 A=3530 53.1 222 | 87
250m

24 29 130 1,680 7.2 299 85
40m
L=136m

H23 | H26 80 A=1230 38.2 287 | 85
L=304m

H22 | H28 180 A=3,730 25.3 225| 85

28




